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My Answer for today's Homewaork is-
HCF==30=2%3*5.
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Answer is 2x3x3= 30
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Q:-1- Find the HCF of 391 and 667

391 dAT 667 HT HEAH THTUAAh JATd hil ?

(a) 19
(b) 17
(c) 23

(d) 29
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Q:-1- Find the HCF of 391 and 667

391 dAT 667 HT HEAH THTUAAh JATd hil ?

(a) 19

(b) 17

(d) 29



TARGET MATHS- 25/25

Q:-2- FInd the least number which when divided by 12, 27
and 35 leaves 6 as a remalnder’?

3CT: I8 BICT A T T&IT AT A 9T 12, 27 3R 357
fIHTTSIT it U AURT 6 UTH &l ?

(a) 3780

(b)3786
(c) 3586

(d) 3756
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Q:-2- Find the least number which when divided by 12, 27 and 35 leaves 6 as a

remainder?

3T I% SIcl U Sl I&IT ITd Y T 12, 27 3R 353
fIHTTSIT it U AURT 6 UTH &l ?

(a) 3780

(c) 3586

(d) 3756
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Q:-3- Find the greatest number which when divides 564 and 467 leaves the

remainder as 4 and 7 respectively.

3aT: Jad d81 F&IT A1d AT f93d 564 31X 467 i
ﬁfél-l?ld L TY AT e q: 4 37 U &N ?

(a) 30

pA
(c) 25

(d) 35
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Q:-4- Find the H.C.F of

1. HCF of 2/3, 4/5 and 6/7 Is
I&T: 2/3, 4/5 AT 6/7 T AedH THUdID AT B ?

(a) 2/105

()RR
(c) 2/35

(d) 2/15
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Q:-4- Find the H.C.F of 2/3, 4/5 and 6/7 1s

. 213, 4/5 dY

6/7 P

J

&

<l ¢

(b) 105/2

(c) 2/35

(d) 2/15

O

d hU ?
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Q:-5- What 1s the least number which when divided by 7, 9 and 12 leaves the same

remainder 1 in each case?

&l g OIS Y OIS &A1 A1 ¢ 51 7, 9 iR 12 & fawfaia g
Wucumf@ﬁ:ﬁH QTGFWEF\’T%’?

(a)253
)RRV
(c)505
(d)523
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Q:-5- What 1s the least number which when divided by 7, 9 and 12 leaves the same

remainder 1 in each case?

&l g OIS Y OIS &A1 A1 ¢ 51 7, 9 iR 12 & fawfaia g
Wucumf@ﬁ:ﬁH QTGFWEF\’T%’?

)RRV
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Q:-6- Two numbers are in the ratio 3 : 4. If their LCM is 240, the smaller
of the two number is
IT: FT HEATY 3: 4 o TUTA | | AT ITRT AT 240 T, AT 3T HEATATH &
BIET TEAT hiF HT 2

(a)100
(b)80
(c)60

(d)50
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Q:-6- Two numbers are in the ratio 3 : 4. If their LCM is 240, the smaller
of the two number is
IT: FT HEATY 3: 4 o TUTA | | AT ITRT AT 240 T, AT 3T HEATATH &
BIET TEAT hiF HT 2

(a)100

()80

(d)50
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Q:-7- The LCM of two numbers is 30 and their HCF is 5. One of the
numbers is 10. The other is
32T: Y HEATSH T hT T, 5 T 3R ITHT AT, 30. TN T T TH 10 2

(a)20
(b)25
(c)15

(d)5
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Q:-7- The LCM of two numbers is 30 and their HCF is 5. One of the
numbers is 10. The other is
32T: Y HEATSH T hT T, 5 T 3R ITHT AT, 30. TN T T TH 10 2

(a)20

(b)25

(d)5
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Q:-8- What is the HCF of 150, 225 and 375?
3ET:150, 225 3R 375 T H.E.T. T 82

(a)15
(b)25
(c)75

(d)150
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Q:-8- What is the HCF of 150, 225 and 375?
3ET:150, 225 3R 375 T H.E.T. T 82

(a)15

(b)25

(d)150
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Q:-9 ﬁndtheLCMof1 E Eand i ?
' 3’6’9 27 °
3T l,E,EFMTi T TIAH GHTUS A h T hil 2
3’6’9 27

20

(a)?

1

() =3

10

(C)E

(D)5
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9- find the LCM f1 > 2 d4 ?
Q.--ln5 e 0 3,6,9an T
1 y) 4
LUk L T TIAH GHTASdh 3T hil 2

1
®) =3

10

© >

(D)5
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10- find the HCF of > , >, 2% and =2 »

i 2 lg 64e 13 9°9°81" 27

3aT: qAT — ohT HEOH THTISAh JTTd hil ?
9 °9°81 27

(a) 2/3

(b)2/81

(¢)160/3

(d)160/81
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Y
Q:-10- find the HCF of — and — ?

9 9

. S 4
TS,y AT o T HETH THTISdeh AT il

(a) 2/3

(¢)160/3
(d)160/81
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Q:-11- What is the HCF of 36 and 84.?
3ET:36 3T 84 HTH.A.T. T &2

(a)4
(b)12
OF
(d)18
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Q:-11- What is the HCF of 36 and 84.?
3ET:36 3T 84 HTH.A.T. T &2

(a)4

(c)6
(d)18
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Q:-12- Find the least number which when divided by 5, 6, 7 and 8 leaves a

remainder 3. But when divided by 9 leaves no remainder?

3aT: 92 BT U BT HEAT ATA R W 5, 6, 7 AR 8 T fr9miaa v W) 9w 3
ITH 81 0% 9 ¥ foramfia ot W ahis et T S

(a) 1677
(b) 1683
(c) 1987

(d) 2523
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Q:-12- Find the least number which when divided by 5, 6, 7 and 8 leaves a

remainder 3. But when divided by 9 leaves no remainder?

3aT: 92 BT U BT HEAT ATA R W 5, 6, 7 AR 8 T fr9miaa v W) 9w 3
ITH 81 0% 9 ¥ foramfia ot W ahis et T S

(a) 1677
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Q:-13- Two numbers are in the ratio of 15:11. If their H.C.F. is 13, find the

numbers.

3qT: qN HEATY 15:11 o FITUTA | 2| AT 37eh TAEL.TW. 13 §, HEATT ATq hINTQ

?

(a) 78 , 99
(b) 100, 135
(c)195,143

(d) 13, 40
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Q:-13- Two numbers are in the ratio of 15:11. If their H.C.F. is 13, find the

numbers.

3qT: qN HEATY 15:11 o FITUTA | 2| AT 37eh TAEL.TW. 13 §, HEATT ATq hINTQ

?
(a) 78 , 99

(b) 100, 135

(d) 13, 40
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Q:-14- Two numbers both greater than 29, have HCF 29 and LCM 4147. find

the sum of two numbers?

34T: 29 € T ST HEATY FATRT HETH HHTIS A 29 TUT TTHAH AR 4147
2 | 99 ST GEATAT /T I 7T R 2 (2) 666

(b) 669
(c) 696

(d) 966
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Q:-14- Two numbers both greater than 29, have HCF 29 and LCM 4147. find

the sum of two numbers?

34T: 29 € T ST HEATY FATRT HETH HHTIS A 29 TUT TTHAH AR 4147
2 | 99 ST GEATAT /T I 7T R 2 (2) 666
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Q:-15- If the HCF and LCM of two numbers is 13 and 273 then find the least

sum of these numbers?

IaT: TS 31 HEAT T WETH THTISAh 13 TAT TYAH SHIIAqR 273 7 | a7 S
AT T =FAAH TN AT 6 2 (2) 130

(b) 273
(c) 286

(d) 120
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Q:-15- If the HCF and LCM of two numbers is 13 and 273 then find the least

sum of these numbers?

IaT: TS 31 HEAT T WETH THTISAh 13 TAT TYAH SHIIAqR 273 7 | a7 S
HEITS T =AqH T AT ol 2

(b) 273
(c) 286

(d) 120
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Q:-16- Six bells commence tolling together and toll at intervals of 2,4,6,8,10
and 12 seconds respectively. In 30minutes, how many times do they toll
together?

3ST:DE HTeAT Ugeil IR AT W AT g 3T I8 ShHIT: 2,4,6,8,10 AT 12 Uhg ok
A H ISTd 8 af 92 30 e § forat ar v 9y a2

() 16
(b) 15
(c) 10
(d)12
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Q:-16- Six bells commence tolling together and toll at intervals of 2,4,6,8,10
and 12 seconds respectively. In 30minutes, how many times do they toll

together?
321:DE U AT U TR AT H I § 3T A SHAI: 2,4,6,8,10 TAT 12 UhHS h
A H ISTd 8 af 92 30 e § forat ar v 9y a2

(b) 15
(c) 10
(d)12
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Q:-16- Four bells commence tolling together at 12:00 and toll at an intervals

of 4,6,8 and 14 seconds respectively. Then what time will toll together again?

3ET: AR AT 12 99 9T W aoidl § 3T 8 ShA: 4,6,8 TAT 14 Uehe h Al
H I<Tdl € ar 9 Tohd T0T Ueh Ol <ty

(a) 12:02
(b) 12:02:48
(c) 12:03

(d)12:03:48
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Q:-16- Four bells commence tolling together at 12:00 and toll at an intervals

of 4,6,8 and 14 seconds respectively. Then what time will toll together again?

3ET: AR AT 12 99 9T W aoidl § 3T 8 ShA: 4,6,8 TAT 14 Uehe h Al
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Q:-17- Four runner are start the same point on circular track they cover 1 round
in 100 second, 200seconds, 300 seconds and 450 seconds respectively then what
time after they meat each other?

IET: TR YTaeh Teh S 19 T UX Uk AT FSAT TREH I & TAT TG Ueh TAFehd THA:
100 T3, 200 VRS, 300 VS TAT 450 AhS H WA HIA ¢ | AT Tq139 ht 98 T: formr
AT Tk AT e 2

(a) 20 min
(b) 15 min
(c) 30 min
(d)25 min
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Q:-17- Four runner are start the same point on circular track they cover 1 round
in 100 second, 200seconds, 300 seconds and 450 seconds respectively then what

time after they meat each other?

IET: TR YTaeh Teh S 19 T UX Uk AT FSAT TREH I & TAT TG Ueh TAFehd THA:
100 THE, 200 THE, 300 THE TAT 450 THE W U A ¢ | A7 FaT3d <hl I UA: ford
AT Tk AT e 2

(a) 20 min
(b) 15 min

(d)25 min
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Q:-17- The H.C.F and L.C.M. of two numbers are 21 and 84 respectively. If
the ratio of the two numbers is 1: 4, then the larger of the two numbers is:

T E. U0 3R Ut ©1.UH, 3 GEaT3i § ¥ shuT: 21 37 84 3 Tfe Y HEaratl &l
FTTUTA 1:4 2, AT T ACATSA § & TSI HEAT 3:

(a) 12
(b) 108
(c) 48
(d) 84
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